SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

Structure

OilSeal ring

Deep Groove Ball Bearing SnapRing

Bearing Cover

Set Screw

Set Piece

Lock nut Body
8

Fixed Side Supported Side

= DF arrangement of angular contact ball bearing combinations

= Full ran%es with high accuracy without runout according to
adequate preload given in advance

* Prevention of foreign material and leak of grease by the inner
oil-seal rings

= Accompanied by a high accuracy lock-nut and collars(spacer)

= Accompanied by a deep-groove ball bearing and a snap-ring

Bearing Combinations

1. Arrangementtypes of angular contact ball bearing combinations

1) DBcombination (backto back): The large distance between the effective load centers resultsin
higher rigidity at the moment load. However if accuracy of housing is not enough, it may produce
damagee.g. flaking at a earlier stage due to the increased internal load. Preload is determined by
torque when the userfastens the lock-nut.

DF combination (face to face): The small distance between effective load centers limits bearing
capacity to sustain moment load, however it performs at a better level to absorb the margin of
assembly error. Preload is determined at maker’s assembly of bearing cover, thus this way allows
easier self-management for users.

e s

n

2. Standard arrangement type of Sung-il products is DF combination. distance

distance
% Inany case DB combination type is requested, please contact Sung-il Customer Service team DB *TDFT;
for further assistance.
How to Order
Fixed Side Supported Side
BK12 PO-C7 - BF12 -
Precision Surface
grade mark Treatment Treatment
Mark Bearing precision ‘ mark Surface Treatment
‘ (Fixed Side Only) grade FLACE .
‘ (Precision P5 P5 Medium ‘ @Surface no mark Black Oxide
grade mark B Treatment

‘ cs General Medium RA Low temperature Black Chrome
‘ PO-CT General Light Plating (Raydent)




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)

List of Bearings (Fixed Side)

Bearing Inner

dia. (mm) ) P0-C7
FK4 AC-4-12-DF 63427
FK5 AC-5-14-DF 62577
“ FK6 T06ATYNDFMP5 | T06ATYNDFC8 60622
BK6 EN6
EK8 FK8 CK8 T08ATYNDFMPS | 70BATYNDFC8 EN8/BA22-1
8 BK8 EN8/BA22-1
AK8 708ATYNDFMPS
EK10 BK10 AK10 FK10 CKI0 | T7O00ATYNDFMPS5 7000AWDFM 7000AW
EK12 BK12 AK12 FK12 CK12 | TOOIATYNDFMPS5 7001AWDFM 7001AW
EK15 BK15 AK15 FK15 CK15 | T7002ATYNDFMPS5 7002AWDFM 7002AW
BK17 FK17 7203ATYNDFMP5 7203AWDFM T203AW
EK20 AK20 FK20 T204ATYNDFMP5 7204AWDFM T204AW
BK20 7004ATYNDFMP5 7004AWDFM 7004AW
EK25 BK25 FK25 7205ATYNDFMP5 7205AWDFM 7205AW
BK30 FK30 7206ATYNDFMP5 7206AWDFM 7206AW
BK35 FK35 7207TATYNDFMP5 720TAWDFM T207AW
BK40 FK40 7208ATYNDFMP5 7208AWDFM T208AW

List of Bearings (Supported Side)

Bearing Inner

dia. (mm) EF BF FF CF Bearing
[ o6 | EF6/EF8 BF6/BF8 FF6/FF8 CF8 60622
EF10 BF10 AF10 FF10 60822
EF12 BF12 AF12 FF12 CF10/CF12 600022
EF15 BF15 AF15 FF15 CF15 600227
BF17 FF17 620322
EF20 AF20 FF20 620427
BF20 600422

EF25 BF25 FF25 620527
BF30 FF30 620627
BF35 FF35 620722
BF40 FF40 620827

Product Recommendation by Ball Screw Outer Diameters

Ball Screw Outer dia. Fixed Side
(mm) EK FK
| oc  ET Fk4
EKS/EK6 | BK6 FK5/FK6 EF6 BF6 FF6
EK8 BK8 AK8 FK8 CK8 EF8 BF8 AF8 FF8 CF8
EK10 BK10 AK10 FK10 CK10 EF10 BF10 AF10 FF10 CF10
EK12 BK12 AK12 FK12 CK12 EF12 BF12 AF12 FF12 CF12
EK15 BK15 AK15 FK15 CK15 EF15 BF15 AF15 FF15 CF15
o5 BK17 FK17 BF17 FF17
EK20 BK20 AK20 FK20 EK20 BF20 AF20 FF20
EK25 BK25 FK25 EF25 BF25 FF25
BK30 FK30 BF30 FF30
BK35 FK35 BF35 FF35

250~@55 BK40 FK40 BF40 FF40




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)

Recommended Shape Of Ball Screw Shaft-End (Fixed Side)

@Bh7
I
I
I
I
I
I
@An7
I
I
@d

—— L

Dimensions(mm) Lock-nut

I TS IS AN S R M
nnmnn-mn--mn--mnn-mn-- (xPitch)

FK4 M4 x 0.5
s EK5| 25| 6 | 8 FK5|25] 6 | 8 RNS | M5x0.5
EK6 | 30 | 8 | 8 [BK6 30| 8 | 8 FK6 |30 | 8 | 8 RN6 | M6x0.75

210-212 EK8 | 35| 9 | 10 |BK8|35| 9 | 10 AK8 30| 9 | 10 | FK8|35| 9 | 10 |CK8 34| 9 | 10 | RN8 | M8x1/0.75
210- 215 [l EK10| 36 | 15 | 11 |BK10| 39 | 15 | 16 |AK10| 36 | 15 | 11 |FK10 36 15 | 11 |CK10| 36 | 15 11 | RN10 [M10x1/0.75
IR 12 | 10 |EK12| 36 | 15 | 11 |BKI2| 39 | 15 | 14 |AKI2| 36 | 15 | 11 |FKI2| 36 | 15 | 11 |CK12| 36 | 15 | 11 | RNI2 | MI2x1

220 15 | 12 |EKI5 49 | 20 | 13 |BKI5 40 | 20 | 12 AKI5| 49 | 20 | 13 |FK15 49| 20 | 13 |CK15| 49 | 20 | 13 |RNI5 | MI5x1

| o MO
5 | 4
- I
| o0-02 G
| 010-015 REUNIE
| 014-015

7| 1 BK17| 53 | 23 | 17 FK7| 57 23 | 17 RNIT | M1Tx1

SN ) o e 25 17 B0 | 25| 16 AKI 64| 25| 17 PO 64| 25 | 17 RN20 | M20x 1
Sl 25 | 20 |EKS| 76 | 30 | 22 |BK25| 65 | 30 | 19 FK25| 76 | 30 | 20 RN25 | M25x 15

0 5 BK30| 72| 38 | 25 FK30| 72| 38 | 25 RN30 | M30x L5
B30 BK35| 83 | 45 | 28 FK35| 83 | 45 | 28 RN35 | M35x L5

@50 - @55 [URNIEE] BK40| 98 | 50 | 35 FK40| 98 | 50 | 35 RN40 | M40 x 15




SUPPORT UNIT

SUPPORT UNIT OVERVIEW |
SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)
Recommended Shape Of Ball Screw Shaft-End (Supported Side)
A T | i
= o Il o
< © ;
[ | L] |
\ — Y
+0.14 |
GO -
+0.2
F O
R— E —
Dimensions(mm)
[ 4 | EF BF AF FF CF A E B F G
EF6 BF6 FF6 6 9 56 6.9 09
EF8 BF8 AF8 FF8 CF8 6 9 56 6.9 0.9
EF10 BF10 AF10 FF10 8 10 76 7.9 0.9
EF12 BF12 AF12 FF12 CF12 10 11 96 9.15 115
220 EF15 BF15 AF15 FF15 CF15 15 13 143 10.15 115
BF17 FF17 17 16 16.2 13.15 115
@25 - 928
EF20 BF20 AF20 FF20 20 19(16) 19 153501335 135
EF25 BF25 FF25 25 20 239 16.35 135
BF30 FF30 30 21 286 17.75 175
45 BF35 FF35 35 2 R 1875 175
BF40 FF40 40 23 38 19.95 195

% Thevaluesin brackets are for model no. BF-20.




SUPPORT UNIT

| EK SERIES

SUPPORT UNIT . EK SERIES 7™#2

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EK4 ~ EK5

2-@X Drill Thru

EK6 ~ EK8 A

2-@X Oill Thru | | |

H1

)
P ©)
s TEY

Additional note for [EK-25] ) m»\

\2-g78

DITQ =

Drill Thru
15 15 4-11

10

Dimensions

Sizes (mm)

ey el
L4 L5

dl | L L1 L2 L3 | B | H [b£0.02(h£002| B1 | HL | P | X | Y z aT

4 |15 55 17518537234 19 17 | 10 18| 7 |26 45 - - | 10 45354535 50
5 |165/55/65 195 35|36 |21 | 18 | 11 |20 | 8 | 28 |45| - | - | 11 |55/455.5/45 68
6 20| 55 | 2 |35 4|25 22 13182/ 3 55/95/ 11 125 | 7|10
8 | 3| 71 % | 4 523226 | 17252 |38 |66|/11| 12 14 |55 175 230
1024 6 | 2056|7043 35 253624 52/9 -] - 16555540
22| 6 | 295 | 6 70|43 35| 25|36 24529 -] - 19555540
1525 6 | 3 |5 8|50 4 30425 611 - - 210 10]5%0
20 4| 10 | 5 10|95 58|475| 30 56 25|75 11| - | - | 30 | 11 | 11 | 1310
2548 13 | 59 | 14 105 68 525 35 66 25 85 <Se§g?eeaafﬂét’“a' 35 14 14 | 1950

% Only EK-4 and EK-5 have different dimensions according to the bearing grade (P5/P0-C7).




SUPPORT UNIT

EF SERIES |

SUPPORT UNIT : EF SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EF6~EF8

2-@X Drill Thru |
‘ Rl
2
) \
i
EF10~EF25
2-@X Drill Th E
i\i ~\ i‘i . EE::
| | | | |
Il i i | | l

Dimensions
Sizes (mm)

Mass | Snap- :
(g) fing Bearing
6 | 12 4 | 25 | 21 | 13 | 18 20 | 30 | 55 95 | 11 | 120 | C6 | 6062Z
EF8 6 | 14 5 | 32 | 26 | 17 | 25 | 26 | 38 | 66 | 11 | 12 | 230 | C6 | 60622
8 | 20 | 70 | 4 | 35 | 25 36 24 | 5 | 9 - - 430 | 8 | 608z
0 2 | 70 | 4 |35 | 25| 3 | 24 | 5| 9 - - | 40 | cwo | 60002z
15 20 | 8 | 50 | 4 | 30 | 4 | 25 | 6 | 9 - - 50 | c15 | 60022z
20 | 26 | 95 | 58 | 475 | 30 | 56 | 25 | 75 | 11 - - | 1310 | 20 | 62042z
EF25 25 | 30 | 105] 68 | 525 35 | 66 | 25 | 8 | 11 | - - | 1950 | c25 | 620522




SUPPORT UNIT

| EK SERIES

SUPPORT UNIT . BK SERIES 7™

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BK6 ~ BK8

2-@X Drill Thru | |
#Y C'BORE DP Z

L2 L3
4 L5

S

[ N
I s
- Lf

=2

H
041
rh

H1

| |
o
|
| |
| |
| |
| |
| |
Ll

BK10 ~ BK40
4-@X Drill Thru B“ N

®Y C'BORE DP Z @(7 @‘ )‘
el e o
AN AMIMIE
|
Vany}
NA
1

4-@d2 Drill Thru |

Dimensions

Sizes (mm)

Spacer(collar) @

H [b+o02lht002] B1 | H1 z

6|35 |24]452(32] 26|17 |25|26]-138]-]-|-les|u|e]|2] s |5 |20

BKS 8237 |26]4|52(32] 26|17 |25/26]-38|-|-|-166|11]6]|14]55]75]220
1025529 5 60|39| 30 | 22 |34(325 15 46| 13| 6 55|66 /108 5|16 5 | 5 | 360
12/25 529|560 43 30 | 25 3435 18|46 13| 6 55|66(108 6 19| 5 | 5 |39
15276 32| 6|70/ 48] 35 | 28 |40]38] 1854 15| 6 |55/66/11| 6 2] 6 | 6 | 530
17/35| 9 |44 7 8 |64 43 | 39 |50 55 28|68|19 8 |66 9 148524 7 | T 1210
20358 43 8|8 60 44| 34 |52/5 22 70]19|8 66/ 9 14/85/30 8 | 8 1650
25412 54| 9 106/ 80 | 53 | 48 |64 70|33 8| 22|10 9 |11 175 11|35 9 | 9 2310
3045 14 61| 9|18/ 89| 64 | 51 |76 78 33 102/ 23|11 11|14 201340 9 | 9 3330
35|50 14 | 67| 12|140/ 96| 70 | 52 |88 |79 |35 114 26|12 11|14 20|13 |50 | 12 | 12 4380
40 61|18 76| 15160 110 80 | 60 |100| 90 | 37 |130| 33 | 14| 14 | 18 | 26 175 50 | 15 | 15 | 6670




SUPPORT UNIT

BF SERIES |

SUPPORT UNIT : BF SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BF6~BF8

2-@X Orill Thru
@Y C'BORE DP Z

.

L“
!
|
\

ﬁ}

T T
| ‘ |
P
S
| |
| ‘ |
[
| |

H1

IS

|
|
—
-
|
|
|
|
b

\
‘
P
B

BF10 ~ BF40

2-@X Orill Thru |
@Y C'BORE DP Z
TN

4-@d2 Drill Thru

Ly

Fos A~
AN

B1

(

\

H1

@d1

Dimensions

Sizes (mm)

14 | 52 | 32 26 17 25 | 26 - 38 - 66 | 11 | 12 120 C6 60627

20 | 60 | 39 30 22 34 1325 15 | 4 | 55 66 | 108 | 5 260 C8 60877
10 20 | 60 | 43 30 25 34 | 35 | 18 | 46 | 55 66 | 108 | 6.5 270 C10 | 6000ZZ
15 1 20 | 70 | 48 35 28 4 | 38 | 18 | 54 | 55 | 66 | 11 | 65 310 C15 | 600272z
17 | 23 | 8 | 64 43 39 50 55 | 28 68 | 66 9 14 | 85 680 C17T | 6203ZZ
20 | 26 | 83 | 60 44 34 52 | 50 | 22 | 70 | 66 9 14 | 85 710 C20 | 60042z
25 | 30 | 106 | 80 53 48 64 | 70 | 33 | & 9 11 | 175 | 11 1340 C25 | 6205ZZ
30 | 32 | 128 | 89 64 51 76 | 78 | 33 | 102 11 | 14 | 20 | 13 1880 C30 | 620677
35 | 32 | 140 | 9% 70 52 8 | 79 | 35 |14 | 11 | 14 | 20 | 13 2080 C35 | 620777
40 | 37 | 160 | 110 | 80 60 | 100 | 90 | 37 | 130 | 14 | 18 | 26 | 175 3100 C40 | 62082z




SUPPORT UNIT

| AK/AF SERIES

/N

SUPPORT UNIT : AK/AF SERIES 7%

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

AKS8 ~ AK20

n=@X Drill Thru L4 L5
@Y C'BORE DP Z Il
i
LD | - mlﬁﬁmm —
4-gd2 orill Thru | Ly 2 F" - - AT T I KA
! o |z S B Ay
[Vany < —
i
L L ] 1
| |
Loz
L1 L
Dimensions

Sizes (mm)

I I F n
81203 245 4 5232 26 | 17 12526 10 4 38| - |10 55/ 2 |66 11|12 14 4 | 4 | 190
BYSUIN 10 24| 6 205 6 7043 35 | 25 [36]35 15 4 52| - 1266 2| 9 |14/11 16 55 | 55 450
OGP 12 24 6 205 6 |70 43| 35 | 25 3635 15 4 52 - 12066 2 9 14 11 19| 55 | 55 440
BEER 15 25| 6 |36 5 (8050 40 | 30 [41]40 |15 4 |60 - 12566 2 |11|17/15/ 22| 10 | 10 | 570
20421050 10 95|58 475] 30 5645 - | - |75 22 10 - | 411171530 11 | 11 |1400

AF8 ~AF20

2-@X thru
@YC'BORE DP Z z

4-0d2 thru

Sizes (mm)
N}Z?s Snap-ring| Bearing
b£002 | h+002 F

AF8 6 |15|5 32| 26 | 17 25 26 10| 4 |38 55 66|11 | 12| 130 6 | 6062

8 20|70 43| 35 | 25 36 35 15| 4 |5 66 9 |14 11| 320 8 | 6082z
1027 4] 3 | 25 3635|154 5 66 9| 14|11 330 Cl0 | 6000zZ
15208 |50 | 40 | 30 |41 |40 | 15| 4 60 66| 9 |14 |11 | 370 C15 | 600222
20295 | 58|415] 3 [s6|45 - - 5] - 111715 660 20 | 620422




SUPPORT UNIT

FK SERIES |

SUPPORT UNIT : FK SERIES 72

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

E 4-@X Orill Thry
@Y C'BORE DP Z

@0 g6

T2

[ Install Method A] [Install Method B ]

FK10~FK30

P — 4-@X Orill Thiu
L4 L5 @Y C'BORE DP Z

Ir

20 g6
@adi

F HolL
L

[ Install Method A [Install Method B ]

x Additional note for [FK-30]
In case of choosing “Install Method B”, size of spacer(collar) needs to be accordingly changed. Please contact Sung-il Customer Service team for more details.

Dimensions

Sizes (mm)

Body Spacer(collar)

Install Method AlInstall Method B

R -
Er -
K8 8

15

6 | 9 22|18 32|24 25 55 | 32| 65 | 43 |34 6
16.5| 6 105/ 24 | 20 | 34 | 26 | 26 |5.5/6.5 35 | T7/6 | 5/3 | 3.4 6/65

7

9

4 | 10 45/35/45/35 40
4 | 11 55/455.5/45 50
13129122 /36| 28|28 55| 35| 85 45 34|65 4 |12| 7 5 65
34165 4 14| 75 | 55 | 125

4

4

6

23 1433528 4335 /3 7| 4 | 10] 5

102710171295 34 | 52| 42 | 42| 75 | 5 | 85 | 6 |45 16 | 55 | 55 | 200
1227 1017 (29536 | 54| 44 (44 75 | 5 | 85| 6 |45 8 19| 55 | 55 | 225
15]32|15|17 36|40 |63|5|5]| 10| 6 | 12| 8 [55]95 2| 10 | 10 | 340
1745 |22 2346 50| 77 62]61] 10 9 | 3] 12 66/11/0/24 9 9 |70

FK20 20 | 52 2230 5 |57 8|70 | 68| 8 10 12 14 |66| 11|10 30 | 11 11 | 1065
FK25 25 | 57 |27 |30 | 60 | 63 | 98| 8 | 79 13 10 20 17 | 9 | 15|13 |35 | 15 15 | 1465
FK30 30 623032 61|75 117 9 |93 11 12 21 18 | 11 |175] 15| 40 | 9 9 | 2300

% Only FK-4 and FK-5 have different dimensions according to the bearing grade (P5/P0-C7).




SUPPORT UNIT

| FK SERIES

SUPPORT UNIT . FK SERIES 772

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

FK25D, FK30D

6-¢X Drill Thru

8Y C'BORE DP Z|

oD1
@d1
L
i><
@D2 g6

ZA L L

E T

Sl
@01
@di

[

|
@D2 g6

=
[ HILF

A L1 L

Dimensions

Sizes (mm)

Spacer(collar)
CD| B L4 L5

P.CD L1 | T1 | X Y Z | 0T

Model

Bo
di | L H F E | Dl | D2 | A

25 4| 15|27 52 8 |8 122100 92 12| 10|11 | 18 |11 35 10 10 | 2500
30 | 45| 15 | 30 | 59 | 96 | 90 | 138 | 116|106 | 14 | 11 | 11 | 18 | 11 | 40 | 11 11| 3500
35 48 | 16| 32 | 67 112100 154 132|120 14| 12| 11 |175| 11 50 | 12 12| 4080
40 | 61| 18|43 | 76 | 126|120 176 | 150 | 128 18 | 16| 14| 20| 13 | 50 | 15 15 | 6750




SUPPORT UNIT

FF SERIES |

SUPPORT UNIT . FF SERIES

SUPPORT UNIT FORBALL SCREW (GENERAL LOAD)

/N

H5/

FF6~ FF30

4-9X Drill Thru

)

~ 7
[N
#D g6

oA

C
pal,

+

BliE]

gee

Sizes (mm)

ESS

(g)

Snap-ring| Bearing

H F C. z

FF6/FF8 6 0 | 6 4 | 2 | 3% | 28 | 28 | 34 65 3 30 c6 60622
8 12 7 5 28 | 43 | 35 | 35 | 34 | 65 | 4 60 c8 60872
10 | 15 7 8 | 3 | %2 | 4 | # | 45 | 8 4 100 C10 | 60002z
15 | 17 9 8 4 | 63 | 50 | 5 | 55 | 95 | 55 140 C15 | 60022z
17 | 20 1 9 50 | 77 | 62 | 61 | 66 | 11 | 65 290 Cl7 | 62032z
20 | 20 | 1 9 57 | 8 | 70 | 68 | 66 | 11 | 65 380 C20 | 620427
5 | 24 | 14 | 10 6 | 98 | 8 | 719 9 14 | 85 590 €25 | 62052z
30 | 27 | 18 9 75 117 | 95 | 93 | 11 | 175 | 1 930 C30 | 62062z

FF25D, FF30D o GHORE DP 2 o

FF35, FF40 8-¢X Drill Thru S

2Y C'BORE DP Z

Dimensions

Snap-ring| Bearing

25 | 30 15 15 | 8 | 12 | 100 | 92 | 11 | 18 | 11 | 1400 Q5 | 620522
30 | 32 | 15 | 17 | 9 | 138 | 116 | 106 | 11 | 18 | 11 | 1800 C30 | 620622
35 | 34 | 15 | 19 | 100 | 154 132 | 120 11 | 175 | 11 | 2050 35| 620722
4 | 3% | 18 | 18 | 120 | 176 | 150 | 128 | 14 | 20 | 13 | 3050 C40 | 620822




SUPPORT UNIT

| CK/CF SERIES

/N

— SUPPORT UNIT - CK/CF SERIES (Low-Centered Type) S

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

CK8 ~ CK15

2-@X Drill Thru

#Y C'BORE DP Z \

|
|
|
[
SO
| \
|
|
|

Dimensions

Sizes (mm)
Spacer(collar)

X
8 215 4 | 265 35 62| 31 | 31 155 46 11 | 9 | 14 18 | 14 | 6 6 260
1026 295/ 6 | 7038 |3 |2/]5 12914191655 55/ 43
12 24| 6 205 6 70 38|35 20 5 129 |14 19 19| 55| 55 | 430
15 25 6 |38 | 5 | 8 | 4 | 40 | 2 60 125 11 | 17 | 23 2 | 10 | 10 | 540
CF8~CF15
2-@X Dirill Thru
#Y C'BORE DP Z
| | L
ST =
| | | | {
[ [ 5 I N
T Qe
n e o]
b \ |
P L
B
Dimensions
Sizes (mm)
Snap-ring Bearing
b002 | h+0.02 X
6 | 16 | 6 | 31 | 31 | 155 46 | 9 | 14 | 18 165 c6 60622
CF10 002 | 70| 3 |3 | 20 5| 9 | 14| 19 285 C10 600022
02 7038 |3 | 20 5 | 9 | 14|19 285 c10 600022
15 20 | 8 | 42 4 2 e | 9| 14 2 355 c15 600227




SUPPORT UNIT

WBK SERIES |

SUPPORT UNIT : WBK SERIES winauwetyel 722 ()

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

WBKO04, WBK06

2-3.4 Thru A

@c
w
@D1 % 45

% Make sure the lock-nut is fastened fully due to frequent detachment of flange shaped miniature ball bearing.

% Spacer(collar) are mounted on the body at release for the loss prevention.

Dimensions

Sizes (mm)
Body Spacer(collar)

D1 D2 E F G H W T M
13 125 9 5 5 25 19 10 M4X0.5 | @8X@4X1-1EA

18 17 11 5 6.8 25 24 12 M6X0.75 |@9.1X@6X1 - 1EA




